Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in Assam
Rifles Examination, 2018

[Roll No. :

Registration

No.

IName :

Exam Venue : iON Digital Zone iDZ Gram Raigawan Near Patan
Bypass

[Exam Time:  [4:00 PM - 5:30 PM

[Exam Date :  [02/03/2019
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Ans o1 H#O@H
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X3 6%2#
X< 4 #62%

Question ID : 9895808270
Chosen Option : 2

Q2 gy g WM B R AT i AW A PV aFa F FET T T Wl d orr 31 A &
A FFETS % FTEN WS T §, A & AT A wia gem?

Ans x_l. E‘m
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Question ID : 9895808274
Chosen Option: 3
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Question ID : 9895808288
Chosen Option : 1

Q4 37 fawew & =0 F{ S WY 97 ¥ 3 TE FEOT ¢ 5F R uger 9@ gEy g ¥ wefaA §

4 : B2 ;#72 31560
Ans X 1122
v 2120
X3 128
X4 118

Question ID : 9895808279
Chosen Option : 2

O3 37 Rred sy @ TEw FY, S & 7§ gl d 5§/ sefRe #

a2 Ik

=

v

Ans

X2

71N

p

Question ID : 9895808285
Chosen Option : 1
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I HeY T v §, Sed ¥ O T @ O oA §, 9T U s AT g1 U e’ & 9aa
FI

Ans « 1]
<2y
X3 Q
X4
Question ID : 9895808265
Chosen Option : 4
Q.7 Four words have been given out of which three are alike in some manner, while one is different. Choose the odd one.
Ans o 1. Goat
< 2. Pup
X 3. Kitten
< 4 Cub
Question ID : 9895808266
Chosen Option: 1
Q.8

A; B.iCID; E F,GaﬁTwaaﬁTaﬁtgwﬁ:ﬂngmﬁsré?ﬂmmﬂ%%r D,H#& T &
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K4 gre 7 e
Question ID : 9895808273
Chosen Option : 2
Q.9 = fw o et & 718 & frewd | AR 11 Rw e {1 77 Ao ge o Fwe F & 7% e 7 g

Ans

# §1 77 A A ¥ e vl g @ o 7 v w1 F Fie wa e aifdw ot e
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Question ID : 9895808275
Chosen Option : 1

Q1 ofy A= 1% 77 # %2 a2 A F1a7 &, CAT #1 24 F &7 F % 72 &7 =100 &, T MAINS &
forw w9 # e 7% B Ao

Ans of 1 BB
X 2 57
X3 52
X 4 50

Question ID : 9895808271
Chosen Option : 1

01-1 37 faweT & w9 & S A 97 ¥ 3@ a¥g §6od ¥ W v@R Tger 97 g g ¥ wefed
By 2 awa

Ans o 1 ZhAT

X > TEE

X 3 @

v 4 TR

Question ID : 9895808268
Chosen Option : 4

VT AT H A TEIT AT HI

<27
X33
v 9

Question ID : 9895808281
Chosen Option : 4

Q; TR KFT T x & Har o + & Marael + & 3t N o — 31 & & e &1 a7 &= @emre

IB3K7H2275 M 27 N 13




Ans X117
X219
X322
v 18

Question ID : 9895808282
Chosen Option : 4

01-41 3@ FeT F TS F S ST 97 @ 3 T w0 § B YR @0 9E TEe g @ meie

QPRS : TUWV : : JIKL : ?

Ans
< 1. NMOF
v 2 MNPO
< 3 NMPO

< 4 MNOP

Question ID : 9895808269
Chosen Option : 2

Q.1 #=r fyw ov Foet & ag A ey |, IIﬁlllﬁvwﬁlmmﬂéyﬁ:m:&ﬂmﬁm
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X s T Ty Ao AT F
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Question ID : 9895808276
Chosen Option : 4

061 38 ey & 997 F S 7 =9 A Rea www i 9fF w ge gEer 9w R

AP, DQ, HR, MS, ST, ZU,
Ans x 1. GV




X 2 FS
X 3 HW
v o HV

Question ID : 9895808264
Chosen Option : 4

Q.1 Trmfim wmpfaat 7 ¥ 39 o1 sIgpeet & 79 $few, 5 oawehr oy = = @ o s vl =

7 HITH # IS FT HS9TFAT 2l
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Ans X 1. DF

X2 BF

> 3. CD

v 4+ D,E

Question ID : 9895808283
Chosen Option : 4

Q{; o1 s fiw e €, o @ O RS 9 ¥ 9 & e T% e g1 SR @ w9 &1

Ans X 1. (27, 57)
v 2 (28, 63)
X 3 (15, 45)
X 4 (14, 44)

Question ID : 9895808280
Chosen Option : 2

0‘31 37 RpeT # TIE A S AR 9 ¥ 3 g W § W 9o gEw 97 g g7 ¥ FEf ¥

m;fr:mm::a'rg:?

Ans X1. M
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Question ID : 9895808267
Chosen Option : 2

Q.2
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3T HFh:

Ans
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X2 | A
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Question ID : 9895808287
Chosen Option: 1
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Ans =
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v
4
Question ID : 9895808284
Chosen Option : 4
Q.2
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Ans JT A
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X3 B
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Question ID : 9895808272
Chosen Option : 2

Qéz 37 feeT 1 T3a FT Y 30T F a¢ HR W T W A T FFE F 90 oy ¥ e O e
gl

wr R
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Ans
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&
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Question ID : 9895808286
Chosen Option : 1

042 30 ey &1 w7 F S T 7 F Red ww R =S geogmer 79w w

8,9 13, 22,38, _
Ans X171

X 2 50

v': 63

X 4 BB

Question ID : 9895808277
Chosen Option: 3

Q.2




36 fashe &1 S B S W T H Ned T B A gU HEer H Q|

1330, 728, 342, 124,
ans X 1. 35

X2 24

v 26

X4 48

Question ID : 9895808278
Chosen Option : 3

Q2 Feimgie AET TEHR et aer e SR F e P A FeT S &7
X0 F e g

X2 TR 3R

X 3. SETcAH ARl

Vg TeE R

Question ID : 9895807333
Chosen Option : 3

Q%Z TRlT § ¥ T @1 T guw 3w aut o% T F7 FR vE A Eerdr ar
ans X1 T T

v 2 TSR HER

X s Zara o=

X4 T FeTew

Question ID : 9895807332
Chosen Option : 2

U = urer F9 Far ¥

A X . AT ¥ 3UCEY T9ET @ FH §F W
X 2
TFR & 390y ToEd & Fuifa =77 & o9 W
X 3 FIFR & 39y 95T F e T W
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Question ID : 9895807337
Chosen Option : 4

2 Tz (@0 ) W T en wtea st & e few #1 aee w2




Ans X 1. 8w =T e
v T % T & WA

?(3.§T=I-TEI-TI'"I?I'Z!T|'
X o ForFs & A

Question ID : 9895807342
Chosen Option : 2

@3 2016 F vgeT THEAT (AIBA) SelEw IETE R e f@endr @ e
e XK. e s

X 2 wfEe dgert

v TR AEA

XKoo . Ry

Question ID : 9895807335
Chosen Option : 1

°{3mﬁwmmﬁmamﬁm§mm?
X ot

v 2 T
X 3 FaTeH
X 4 HENTSE

Question ID : 9895807350
Chosen Option : 1

Y TaerEr ow oRT ¥ B 1ew F g o e T 7
s X0 mew e

v 2 faET

x3~3F|T‘;Iﬁ3T

X 4 offaH 9

Question ID : 9895807330
Chosen Option : 3

% of¥SH demer F aftEr # gF F9 oEr AT A
Ans 1. 1754
v 2 1740




X3 1711
X 41723

Question ID : 9895807351
Chosen Option: 3

043 ‘What do you call a breeze blowing towards the sea from the land. especially at night?

Ans < 1. Water breeze
v 2 Land breeze
/< 3. Sea breeze
/< 4. Tidal breeze

Question ID : 9895807345
Chosen Option : 2

C sma F oo oy 3w Fv ofa T e ar?
Ans of 11961

< 21966

X 31945

X 4 1950

Question ID : 9895807340
Chosen Option : 2

L 9T FT TET TAF FF HTAIT TAT AT?
Ans X115 3meTET 1947 Fr
X 2 26 FAaL, 1947 Fr
V'3 26 S, 1950 Fr
X 4. 26 3TEA, 1950 Fr

Question ID : 9895807341
Chosen Option : 3

Y Iraw R R F owd i §2
A 1 s st

X2 qF /g T

X 3 Tadeeg

X+ geavag foear aeR

Question ID : 9895807334
Chosen Option : 1




°é3 oY TF S F FE 9¥ AT $Ra # 30" WER F e H awon H o6

Ans 1. 1941
V21943
X 3 1942
X 41945

Question ID : 9895807352
Chosen Option : 2

°§3 AR 3R WA T F 7= HR e & vaved & Vwwa e g ¥ A

K sESE wE e

X 2 HYFS T
v i feT =R FereA
X4 faeg &%
Question ID : 9895807338
Chosen Option : 3
s resources are those whose quantity is known.

Ans & 1. Non renewable
/< 2. Potential
« 3. Original
X 4 Actual

Question ID : 9895807347
Chosen Option : 1

U4 g # U w9 W & & SN & HTUR X ST T 9T
s K&

X 2 HaTels

X o eSS TFTEH

Question ID : 9895807339
Chosen Option : 4

L form e i & FRoT B @ wEE @/ FEeER g 37
A X afs @ethe
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Vv Sedshe
X 1. v

Question ID : 9895807343
Chosen Option: 3

°§4 1987 & 27 AR o= Aw=fT fex o vger aRET AR g ofaens o wiw 4

fre XK. fegrer @l
v 2 Ty HTEE
X 5 TATH. dTHAR

X 4 i Ir9=T

Question ID : 9895807331
Chosen Option: 2

% aarTeaT & Y e &7 F 97 T B

Ans

X FTgEaT fr graar

v 2 FATEIT Fir Qe
X 3 FTTETT #r AT
X 4 FagEar & AT geanem

Question ID : 9895807336
Chosen Option : 4

%' 33 TS = AT 2019 F Rw ofFW T gl
Ans x_l. ﬁ%’ﬁ
X 2 TR

X 3 e
& FERTE

Question ID : 9895807328
Chosen Option : 4

Q4 oo ety sl At ol =GR A A # i s A A A o E
Ans XK. grITETEAT

X 2 sgFuTRfer

X 3 g

v ¢ AT




Question ID : 9895807348
Chosen Option : 4

G TsE T T A g R

Ans 1. 2010
X 2 2002
X 32007
v 4 2005

Question ID : 9895807346
Chosen Option: 3

%' 2018 # frw @eha e F O R @ gEATEa R
Ans X 1. T, HR. TEAH

X 2 girgare =@

xs.faagmwam‘r

V&S i)

Question ID : 9895807329
Chosen Option : 2

U RTIT et T A i (FARTE) TR H TEAF F
e K STerEdT
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X 3 s
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Question ID : 9895807344
Chosen Option : 2

065 e & ¥ frm 3o F 2017 & Bl I3en wew i g o o 2
A XK S

X 2. gTer

5 ST
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Question ID : 9895807349
Chosen Option: 3
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F syray § 3l =ted 5 om &1 T 3mg @ 9fEw

Ans X1.11 cm
<2 30 cm
V' 22 em
< 4 33 em

Question ID : 9895807673
Chosen Option: 3

QS5 et F T 3 : 5 IR TRFE TEM F 0 B FA AN L, T FFII 50 9 & I 2
TEATT AT L

Ans 1,30, 50
v 2 60, 100
X3 21, 35
2 4 90, 150

N

Question ID : 9895807664
Chosen Option : 2

Q.5 100 F¥gat F Arem 30 WA T AR O F EAG, F IR A 2B AR N FIm R A2 F
3w # wow ahF ¥ R, & wE e &

Ans 1. 30.5
V2299
X3 29
X432

Question ID : 9895807659
Chosen Option : 2

% wige U

87 -6 of (28 -13) + 4 x 9
ans X130

X2 43

X3 23
v 33

Question ID : 9895807654
Chosen Option : 4

Q.5 oF 93 ¥ 42 km F gff W UF dgF ¥ T A A §1 AR = 135 F A g S § o =y
5 Hrafytk:

Ans X 10320 m/s
' 2 323.07 m/is




/33211 mis
X 4 32207 m/s

Question ID : 9895807671
Chosen Option : 2

Q.5 T A aoe BT ¥ 6% 9 a9 FH TR0 @ W W Fo 40 3wR fow sE e @ @ 218,200
6 ster faw) ofy ¥ & 214,000 U BT, & 3@ A TET S 4 aww B0

e X g
X225 g%
X3 353§
v 5%

Question ID : 9895807666
Chosen Option : 4

Q.5 4 cm 5= T UF ¥4 F AT F BT 11 cm x 4 cm ¥ U HAGER FES # A5 fEw e i
7 3R faer ST TR & R ST ¥ S a9 U de &1 e E:

A K1 385 cm3
X2 385 cm?
V'3 385 cm?
< 4 0.385 cm?

Question ID : 9895807672
Chosen Option: 3

Q.5 o frfFaT 3Efr & BT 21,800 T 10% $ & & Twqghy == 2378 §1 ar a5t F gEw F e E
8

e K3 ¢
X2 3% af
v3 2%
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Question ID : 9895807667
Chosen Option: 3

Q.5 ofy st AR /@ $r & g F A 6: 7 ¥ 3R 5 9§ F w1 g 7 0 8 gwm, A s A
9 FTAAH Mg F 2

Ans 1. 48
X 2 56
v': 35
X 4 64

Question ID : 9895807665
Chosen Option : 3




L

Q.6 = T 7T G WE F HeGTA FL, A o0 F T Ao FAEG X, ¥ 3R Z =5 Fee (T
0 == #) ¥ scurea ¥ aws oot § 3l 9o ¥ Teaw &

aut & ghoa i Fufert X, Y 3k Z carr sEe @ 3oae (v e 7))
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ans X112 : 11

X211 :13
X312 : 15
V41112

Question ID : 9895807675
Chosen Option : 4

Q.6 A B 3T C &7 sitag T=1= 45kg §1 IfE A 3T C 7 #Hiwa 9917 42 kg & T B #lw C =1 3w 38
T wiarcwmasat

Ans of 1. 25 kg
X 2 35 kg
< 3 30 kg
X 4 40 kg

Question ID : 9895807656
Chosen Option : 1

Q.6 wFmer: 200 m T 300 m Fr TR A & T AT Ter@ W T fnmt F o= @ § o
2 oy oY 40 kmvh 3R 50 kmh § 3 3R F TE-gEY F OR F F O A W

Ans X 1. 50 s
X230s
V320 s
X440 s

Question ID : 9895807670
Chosen Option : 3

Q6 A Bl CATR4RA T s i TR ANRBFT R A T awa § B 3
3 10 it F F wHES § O I FT F BT A 3T C Z9nr Brw av fE @ A s51

Ans xl 8 ﬁ?l'




Xz.sﬁﬂ-
X34 fm
v 5 fEE

Question ID : 9895807668
Chosen Option : 4

Q.6 m=a o Tem, B 5, 6, 7 3t 8 ¥ Rufaw w13 W Ivwe 4 | 14T &, afFw =9 4 & RenlEw
4 BT S P dvEe G ST

Ans X 1. 840
v 2 844
X 3 846
X 4 1684

Question ID : 9895807653
Chosen Option : 2

Q.6 A 3t B mwen 10 R 3t 15 R & v a3 ¢ wod ¥ o 3 voiat R # W W w1 =@
5 g A E W & FE e R & @ oaem

e 12 e
X215 &
X386 fee
X410 e

Question ID : 9895807669
Chosen Option : 1

Q.6 5 sFdEant ¥ v g wEr AR e FAW 1148, 7624 3K 11628 S fFer Shaw o sEeER
6 =t gor e @ forwar wtoew freT?

Ans  of 1. 57%
X 2 65%
X 3 90%
X 4 60%

Question ID : 9895807660
Chosen Option : 1
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#r R 71T ) WF &7 HeqwT wY, S Tu F ST HoE-3ewT autaat X, Y ik Z g rr wee (7
= #) ¥ 39ea ¥ e guifar § R 9eF & Feaw &)

st F S i Faferit X, Y 3R Z Sarr Fee @ 3cued (9 T #)

LT TR R
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T 1996 ¥ 1997 TF FUA X & 3oUeA # wiowd IhE Fw 7
Ans of 1. 50%
X 2 80%
X 3 60%
X4 70%

Question ID : 9895807677
Chosen Option: 1

Q6 <yl ifir
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v
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Question ID : 9895807655
Chosen Option : 4

Q.6 There is a 10% discount on a dozen pairs of trousers marked at 36000. How many pair of trousers can be bought with
9 22700

Ans X1 4
X27
V36
X 43

Question ID : 9895807658
Chosen Option: 3




Q.7 Frr T 9T SR WE F HTTA FI, FA I8 F ST IR0 FEdt X, Y 3R Z @R w7
0 =3 &) ¥ 59ea ¥ Hiws qaar ¥ A wed F 3T 5

a5t & hoa = FulEEt X, Y 3R Z arr e 5 3ees (e ' W)

JUC T T R ]

Years el

St Tut # JET soaes TR Fl & e gEan ar?
XK X ek z @t
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vy
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Question ID : 9895807676
Chosen Option : 3

Q.7 M #r 220 & T A F I =T U0 2t BEEr M F 9w e on 3fy A st M & grw 2220 & ofr
T & @ M & ogeh O & @ A 7 TR a7 s a3

Ans X1.7:6
X25:6
X32:1
v:i6:5

Question ID : 9895807663
Chosen Option : 2

Q.7 v o & Hept B eI W 62 F T 87 T=T [hAT AT AT SHEF FHUT HaT F HAT HF HY (1/2)
2 gz o) FeT & o B TEw T

Ans X 1. 40
v'2 50
X3 45
X 4 25

Question ID : 9895807657
Chosen Option: 2

Q.7 v wweg Fnga & IRAN & T AW TR F awe @ V3 A 81 @ wEeg e & aww
sgem Y TS

Ans of 1. 4 cm




<26 cm
/<3 3 cm
X 45 cm

Question ID : 9895807674
Chosen Option : 1

047 50 ¥F F1 4T qeT 45 VT F AT TT F S 1 IO o1 I e AT F

Ans 1. 10% @IS
X 2 12% g
X 3. 12% T
v 10% Tl

Question ID : 9895807662
Chosen Option: 1

Q.7 sgAg 75200 # & [WAT TRl WlEAT € AN SEH FEAT W 800 @I T g1 IR T TR
26,600 F e ¢, aF 3\ e wfaerd &

Ans of 1.10%
X2 9%
X 3 12%
X 4 8%

Question ID : 9895807661
Chosen Option : 1

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Access to mobile phones and an Internet enables job - seekers to search for jobs anywhere in India and abroad.
Ans 1. No improvement
/< 2. internet enable job - seekers
« 3 the Internet enables job - seekers

/< 4. internet enables job - seekers

Question ID : 9895807986
Chosen Option : --

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

It is the adversity that makes vou stronger, kinder and most generous than before in life.

Ans % 1. more generous than before in life.
/< 2. No improvement

' 3. most generous than before for life.




/< 4 the most generous than before in life.

Question ID : 9895807988
Chosen Option : --

Q.3 From the given options, identify the segment in the sentence which contains the grammatical
The pancreas plays an important role in digestion and regulating blood sugar in living bodies.

Ans  of 1. The pancreas plays
/< 2. in digestion and regulating
/< 3. an important role

/< 4 in living bodies

SITor,

Question ID : 9895807985
Chosen Option : --

Q4 Select the synonym of the given word.

ABRUPTLY
Ans X 1. Easily

/< 2. Suddenly
/< 3. Leisurely

W 4 Slowly

Question ID : 9895807997
Chosen Option : --

Q5 Select the correctly spelt word.
Ans X 1. Synchroneze

+ 2 Synchronize

/< 3. Snychronize

/< 4 Synchornize

Question ID : 9895808006
Chosen Option : --

Q6 Select the most appropriate option to fill in the blank.

Most often T wish I his luck.

Ans - X 1. would had
X 2 had
& 3. have
« 4 has




Question ID : 9895807990
Chosen Option : --

Q7 Select the antonym of the given word.

ADAMANT
Ans  of 1 Agreeable
X 2 Firm
/< 3. Innocent
X 4 Gullible

Question ID : 9895807999
Chosen Option : --

Q.8 From the given options, identify the segment in the sentence which contains the grammatical error.

Technology plays a vital role at the modern life and influences the course of human civilisation unceasingly.
Ans 1. human civilisation unceasingly

/< 2. at the modern life and
« 3 Technology plays a vital role

/< 4 influences the course of

Question ID : 9895807984
Chosen Option : --

Q.9 Select the most appropriate word to fill in the blank.
Japanese monkeys have been spotted  baths in man - made hot springs during winter.
Ans 3 1. assembling
/< 2. soothing
/3. making
4 taking

Question ID : 9895808008
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

The players were informed that, in the game, anvone who cross the line would be disqualified.

Ans 5 1. anyone who crosses the line
+ 2. anyone who will crosses the line
/< 3. No improvement

/< 4. anyone that cross the line

Question ID : 9895807987
Chosen Option : --




Q.1 T
; Select the synonym of the given word.

PLEA

Ans x 1. nght
/< 2. Duty
v 3 Appeal
X 4 Claim

Question ID : 9895807998
Chosen Option : --

Q1 e
, Select the antonym of the given word.

CAJOLE
Ans 5 1. Repulse

/< 2. Request
/< 3. Rejoice
« 4 Response

Question ID : 9895808000
Chosen Option : --

Q.1
3

Ans 3 1. Magnficent
/< 2. Magnificaent
« 3. Magneficent
/< 4 Magnificent

Select the correctly spelt word.

Question ID : 9895808005
Chosen Option : --

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
4

Unable to pay the debts, the whole family is forced to spent several days in a jail.
Ans 1. the whole family

/< 2. days in a jail
/< 3. is forced to spent
« 4 Unable to pay the debts

Question ID : 9895807983
Chosen Option : --

Q.1




Select the most appropriate word to fill in the blank.

Ecology is the study of the between plants, animals, people and their environment, and the balances between
these relationships.

Ans O 1. contacts
W 2 effects
/< 3. influences

/< 4 connections

Question ID : 9895808007
Chosen Option : --

Q.1

o Select the word which means the same as the group of words given.

The arrangement of events or dates in the order of their occurrence.
Ans X 1. Chronology

« 2. Cataloguing
/< 3. Classification

/< 4 Customisation

Question ID : 9895808004
Chosen Option : --

Qf Select the option that means the same as the given idiom.

To cry over spilled milk

Ans X 1. To regret about that which cannot be rectified
« 2. To cry for trivial matters

/< 3. To cry for milk products

/< 4 To cry for that which cannot be made possible

Question ID : 9895808001
Chosen Option : --

°é1 Select the word which means the same as the group of words given.

A solution or remedy for all difficulties or diseases.
Ans of 1. Medicine

/< 2. Diagnosis

< 3. Treatment

/< 4 Panacea

Question ID : 9895808003
Chosen Option : --

Q.1




Select the option that means the same as the given idiom.

A leopard can't change its spots.

Ans «'1

A leopard can be found easily because of its spots in a jungle
/< 2. A leopard’s without spots cannot be found easily in a jungle
/< 3. It is impossible for one to change one’s character

/< 4 Tt is possible to change someone’s character

Question ID : 9895808002
Chosen Option : --

Q.2 Select the most appropriate option to fill in the blank.

0
1t is wonderful that anxiety is a good example of a condition that works _ or against us.
Ans x 1. of
/< 2 about
/< 3. around
W 4 for

Question ID : 9895807989
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the group means mutual ties (1) its members. The
quality of ties may differ from group to group. Integration has two (2)

- one is the process of integration and the other is the unified
conditions. As a process. integration always goes (3) in the
society. Social system keeps changing and the units keep (4)
themselves accordingly. Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
units. When this balance is (5) , disintegration begins in the
system.

SubQuestion No : 21

0'2 . . . "
;- Select the most appropriate option that will fill in the
blank number 1.

Ans X 1. between
o 2. among

/< 3. together
# 4 both

Question ID : 9895807992
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the group means mutual ties (1) its members. The
quality of ties may differ from group to group. Integration has two (2)

- one is the process of integration and the other is the unified
conditions. As a process, integration always goes (3) in the
society. Social system keeps changing and the units keep (4)
themselves accordingly. Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
units. When this balance is (5) . disintegration begins in the
system.

SubQuestion No : 22

0.2 . . - .
5 Select the most appropriate option that will fill in the
blank number 2.

Ans 1. methods
o 2. agencies
< 3. measures

/< 4. aspects

Question ID : 9895807993
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the group means mutual ties (1) its members. The
quality of ties may differ from group to group. Integration has two (2)

- one is the process of integration and the other is the unified
conditions. As a process. integration always goes (3) in the
society. Social system keeps changing and the units keep (4)
themselves accordingly. Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
units. When this balance is (5) , disintegration begins in the
system.

SubQuestion No : 23

0'2 . . . "
5 Select the most appropriate option that will fill in the
blank number 3.

Ans - 5 1. under
W 2 off
< 3 in
< 4 on

Question ID : 9895807994
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the group means mutual ties (1) its members. The
quality of ties may differ from group to group. Integration has two (2)

- one is the process of integration and the other is the unified
conditions. As a process, integration always goes (3) in the
society. Social system keeps changing and the units keep (4)
themselves accordingly. Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
units. When this balance is (5) . disintegration begins in the
system.

SubQuestion No : 24

Q.z . . . "
o+ Select the most appropriate option that will fill in the
blank number 4.

Ans 1. admitting
/< 2. adjusting
« 3 administering

/< 4 admiring

Question ID : 9895807995
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the group means mutual ties (1) its members. The
quality of ties may differ from group to group. Integration has two (2)

- one is the process of integration and the other is the unified
conditions. As a process, integration always goes (3) in the
society. Social system keeps changing and the units keep (4)
themselves accordingly. Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
units. When this balance is (5) . disintegration begins in the
system.

SubQuestion No : 25

Q.z . . . "
. Select the most appropriate option that will fill in the
blank number 5.

Ans o 1. disrupts
/< 2. disrupt
/< 3. disrupting
/< 4 disrupted

Question ID : 9895807996




l Chosen Option : --

Comprehension:
frafaf@a ez & Rea wuat @ 9fS s F §=r g
T F9AT & IFFER HII0-

ST.FTH (1) s=or@g aor 39" o F 9Rg F
Tfaa gor a9 &7 (2) TSI BT I| SAHT AAAT
T & ARgartaar #r (3) =z & Fr==r =fevl &H
9 3T Y| FOSAT s fFER A (4)y=rfew| FE=mT
Fr FTATET F ARTH F (5) # Fgatar =nfeTl
SubQuestion No : 1

! gy F wafaa fea == (1) & R
39geF 2TeE B

Ans X1 TH
K2 FH
X 3 FIT
v Tg

Question ID : 9895806772
Chosen Option : 4

Comprehension:
frafaf@a @ & Rea wuEt @ fa s & S+ foe
T FeAT &F HFUR AIFAT-

ST.&eH (1) s=orEg I 3% o4 F 9Rg &
ﬁaﬁaé&rmﬁm_@)mg@s}lmm
T & sRGaTTRar & (3) The & Fr==T =fewl go
T @ Tfgwl s ey A . (4)=fge ey
T FIEGET F ARTH T (5) # Fga= =T
SubQuestion No : 2

2 sremryr & wHET Reg = (2) F B
3UgFT S

Ans X1 3TOAT
< 2 gehreRd
V 3\




X 4 3TeTERT

Question ID : 9895806773
Chosen Option: 3

Comprehension:
fafafEa @ & Rea suEr @ T s & 3= g
T FeAT F IFFAR FI0-

SHAH (1) s=oned I d9EE O 3 9RA &
AT qraaa & (2) FAT U | 3R AT
of TF AREaErf@ar & (3) TR ¥ e =igwl g
T9 3@ TfgC Ut Hr Rt F . (4w REmy
T FEEE h ARTA T (5) H T A1gT|
SubQuestion No : 3

ey & wHfag g = (3) F v
3UgFT ATeE ET

Ans of 1 SOT9E
< 2 g
X o wpfEa

#< 4 gfror

Question ID : 9895806774
Chosen Option: 1

Comprehension:

frafaf@a @ & Rea wuEt @ fa s & S+ foe
T GeAT & HFHR HIAT-

ST H (1) S=oTfea arer SA=F 4 F 9T &=
ferfaa gor s &1 (2) FT gC A| 3AHT AT
T T sRGaTtaar & (3) Te & | =fRe| 7o
I 3@ T W= Fr TR & (4)=nfgw fa=mT
F FTAEET F AT F (5) # FEe=T =ET
SubQuestion No : 4

M ey & gFfaT fow e (4) ¥ v
3UgFT S

Ans ?{ 1. a?n.




v 2. FEoreT
< 3. 33T
K4 LT

Question ID : 9895806775
Chosen Option: 2

Q.5

Comprehension:
frafaf@a sz & Rea wuE! @ fa @@ & #$=r fie
T GeAT &F HFUR AIAT-

ST.FeH (1) s=oEg I 9% o F 99 F
e gor sa e &1 (2) FIT gC A| 3HT AeAeT
T & sIRGaTfaar & (3) Te & @r==r =fEel 7o
T 3T TNET| AT TR & (4)y=nfgw fo=mar
T FEEET F ATH T (5) # Fgaa =eT
SubQuestion No : 5

TN H THad Nad T+ (5) & fow
3UYFT G 2

Ans (1' g_cﬁm

< 2. 3T
X 3 HOAT
K 4 Fogar

Question ID : 9895806776
Chosen Option : 1

L £y T Iy F BT e o A

S Fa AT g

SR

X2 s
/3 HEIoT
X4 FwES

Question ID : 9895806783
Chosen Option: 1

Q.7




o = & R & BT 39w F 99T H

9s 97 e w2l
Ans x-]_ BT

X2 g

Vo B

X 4 TEAT

Question ID : 9895806767
Chosen Option: 3

&y I aEEY F BT v e &S

GIUgY & 91 I GAT
Ans '?(1- tﬁ‘@ﬂ'

X2 ofy

V'3 HIUEA

X 4 HEOEA

Question ID : 9895806784
Chosen Option : 3

O Ry TUTE F oA & U sUgE wed F TTA HL

giers faemer & 1fgw T a@ e & A= 7 w0
Ans x1ﬁé:|'

X2 g

v el

4 3Rl

Question ID : 9895806769
Chosen Option : 3

% fow T g # 9 AT A9 A S FE T P

T & FHES e 3T =reew g 3= gEEw 2
Ans ‘,1. qﬂ
K 2 f3re 3ty TaTeeT geefT




X3 e & gTEA
X 4 gAEET g

Question ID : 9895806761
Chosen Option: 1

Y AT T F oA F R sagEa e # T H

SHACY W Hgad oy, Ig e &t @i
Ans X1 afE

v 2 T

X< 3 gfewm

X 4 zgfere

Question ID : 9895806768
Chosen Option : 2

02-1 few a1v A 7 Wifra @3 #1 sarnfte &= & T s feeT &1 90T #

FAR $BI Fga 39T @ ¥, 3 Fwfla wa fr ameeywar 2
ANS 1 gt

X 2 AT

X3 JqY

< 4 HEIIY

Question ID : 9895806765
Chosen Option : 1

%Y TEr IS A oeg @ IO F1
Ans X1 fomanfor

& 2 FromarsT

X 3 fumata

v 4 Fromarfor

Question ID : 9895806786
Chosen Option : 4

041 frafofae # ¥ 57 Beey & =37 S 31 R W 977 W aeer gEEt #1 a @ea aa g

Ane XK1 iy T
X 2 qig T8y & FR WHL AT




<3 Sgd o=t el

4 FEd O ST

Question ID : 9895806782
Chosen Option : 4

% few a1v e & REE I

TET

Ans o | T
X2.ﬁ;ﬁa-
X 3 mar
X 4 FARS

Question ID : 9895806778
Chosen Option : 1

% fow T e @ REE T
TaT
Ans X 1. ey
X 2 °Te]
X3 A
v faEEr

Question ID : 9895806777
Chosen Option : 4

°7-1 few av A & g 4T A9 # o @1 T g

AT 1 A 30 faener & 5 38% R0 ¥ FE 7 F FeEd @ & e g
A o s e ¥

52 HﬁWHGﬂaﬂ

X3 FTHEF HERUT H

X+ B T P genfaa g & ST ¥

Question ID : 9895806762
Chosen Option: 1

0{31 T a1e g & Wil @ # sorafe &= F B s feeT &1 9w =

TEUT ST FHT AT 207




Ans J‘l. FEIGG]
X 2 THE
X 3. dc{Tetel

X 4 g

Question ID : 9895806764
Chosen Option : 1

U frv ITT oreE F UHTIETEY eE FT 99T HY

HTETHA

Ans X 1. 3fearg
X 2 sfeTEa
W 3 feamar
X 4 3EraT

Question ID : 9895806780
Chosen Option : 3

U TEr ISR AT e @ A FE
Ans of 1 FETEAT

X 2 HgeAT

X 5 HETEHT

X 4 HTIgeHT

Question ID : 9895806785
Chosen Option : 1

% R T # e & T s9gEE aee & T

By ST F BT = W BT &
Ans 1. SEHT
X 2. F=ar
3 =T
X4 T

Question ID : 9895806770
Chosen Option: 3

Q.2




fw s1v amr & Wifea @3 # gfavuia == & v suged Rees & o9a #:1

FTS FT F5 AL ¢
a1 e

X 2 g

Pk

<4 ey

Question ID : 9895806766
Chosen Option : 1

% fow =TT AT F1 97 ST A" w S B I

TP 99 oF 3 | &, F9 9% T Fr 39 Il FE @
oK s T

X 2 FEpla 99 %

X 3 9 g& ISg Hr

v 4 39T ol FET gl

Question ID : 9895806763
Chosen Option : 4

U R 9T oreg F UHIETEY e FT TAT FI

AT

Ans «"1. ===
X2 w

X o 7Ed
X 4 i

Question ID : 9895806779
Chosen Option: 1

052 Tfefam & ¥ 3% ey & w9a & W9 GF A4 JEEy 7 HT 7eT F g
AnS ga@r g S
V' 2 Tesse @1 AT

X 3 ged & AT

X 4 | F I F A=A




Question ID : 9895806781
Chosen Option : 2






